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The question paper consists of two sections.
- Aftempt both sections.
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Note: (i) Answers may be written either in
English or in Hindi; but'the  same
medium should be used throughout the
paper. a
(i) The maximum marks printed on the
question paper are applicable for the
students of the regular colleges (Cat.
‘A’). These marks will, however, be
scaled up proportionately in respect of
the students of the NCWEB at the time
of awards for compilation of result.
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SECTION A
CTTw

Altempt Q1 as a compulsory questlon and attempt

two more questions from-the rest.
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Attempt any five questions

(@

(b)

wn

market price of cheese. is. too- low and

Jimposes a binding price*floor-in the cheese

market. Show the effect of this policy on

. the. cheése market: Farmers complain that

the price floor has reduced- their total
revenue. [s it possiblé ? Explain. .

Bill Gates is donating huge amounts frony
his wealth to" charity. An economist’s
argument doing rounds is that he wants his
children to work harder and not deaden
their talents.

Using leisure  consumption choices,
tlustrate how inheritance of such kind may
stop children from working all together
Which effect works in such cases ?
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(c) Suppose a competitive firm uses labour and
capital to produce output. The price of
labour is fixed at 5 and price of ‘capital .is
20. At a certain point in prodiiction, the.
marginal product of labour is 100 and the
marginal product of capital is 200, Explain.
why this is' not a point of equilibrium: for
the firm. What should the firm-.do -to
reach equilibrium in. production. ? Show‘
diagrammatically. _

(d) - Consider an economy in which 10% of all
new cars’produced are lemons i.e. they are
defective. A naive consumer who wants 1o
buy a used car believes:ithat the quality
distribution of used cars is same as that of
new cars. Good used cars are worth

100,000, rupees to their ewners but {emons
are worth only 60,000 rupees. What will be
the expected value of the used car fo the

~ consumer ?

(¢) Suppose the demand and supply curves for

‘ unskilled labour in a labour market are as

~shown in the adjoining figure. By how
much will the imposition of a minimum
wage of 70 rupees per hour reduce total

economic surplus ?
A

et
=
(=

(73

W =
=

Wage (T / hour)

[
<

D
O 3000 soon 10,000

L (Persen-hours / day) ‘

Y

6321 3 P.T.O.



6321

)

What does the domestic price that prevails
in a nation without international trade tell
us about its comparative advantage 7 How
will be the producers of a commodity
affected, if the nation becomes the importer
of a commodity after international trade
opens ?
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2. (a) Suppose we want to compare the demand
curve of a commodity derived using both
substitution elfect and income effect of a
price increase with a demand curve that

" considers only the substitution effect of
price increase. Which demand curve will be
less elastic ? Will it depend on whether the
commodily is normal _or infertor for the
consumer ? Explain. . 6

L
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(b)

(cy

Let the utility function -of a-consumer-be
u = min {2v, 3y}. Let -the- consumer

- consume . 3k-of x-and-2k.of y,’ where kisa

constant. What is the utility enJoyed by ‘the
consumer ? Will the utility change.if 3k of x"

and, 2k +, 1 of y is consumed ? What

about D3k + 1 ofx and 2k ofy 7-What
can you say about nature of goods x.and y.
and the 5hape of indifference curve ? -

Consider "{he -market for Cigarettes in an
economy. 'Tﬁé ‘equation ‘of the demand

curve is P 300 - QD and the equatlon of

Q

the eupplv curve isP= 5 quantmes Qare

measured in thousand packs and price P, is

measured in rupees.. :

(i) Find the equlhbrlum prlce d

‘ ‘quantity’ -and ‘the - total rev_enue.—'
“received by. the sellers.”

{il) -, Suppose the Government :imposes- -a

tax. of X -30 per pack onconsumers.-
Find the equaﬁon of the new. demand
curve, price paid by the buyers, price
received by sellers and equilibrium
quantity after the tax.

(1i)) Suppose instead of the tax, the
Government  imposes a quantity
restriction at 120 thousand packs .and
allows firms to charge a price
according to.the buyers willingness-to
pay at this level of consumption. In
what ways will this policy be different
from the tax policy mentioned in
(i) above from the point of view of
producers and consumers ?

6
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(a)

(b)

' (©)

(%)

Consider a perfectly competitive industry
that exhibits external economies of scale.
Suppose that over the next ten years,
demand for that industry’s product
increases rapidly. Describe in detail, the
adjustments likely to- follow an initial
equilibrium ttll another one is reached. _
A biotechnology firm develops a new
variety of geneticalfy modified cotton and is
granted a ten year patent to grow and sell it.
After the patent expires, any producer ¢an
grow and sell it. The marginal cost of
producing the new variety is constant and
assume it is same for all producers.

(1) Show the equilibrium in the market
for this variety of GM cotton before
and after the patent expires, assuming
demand does not change. '

(ii) What is the welfare cost of the patent
borne by the society ?

(iti) Assume noy, tha{, the demand curve -
becomes more elastic by the time the
patent expires. Will the equilibrium’
price and quantity be any different
[rom your answers in part (i) above ?

Discuss the various attributes of an

investment opportunity that you will

consider before investing your money in it.
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4. (@) In the dntext of imperfect information,
discuss what is the incentive problem.
Describe three ways in "which market
economies provide solution for this
problem. ' :

(b) Suppose the-demand for cars by consurrers
in an economy is given by '

P = 6,000 -2QP

and the supply of cars by domestic
producers is giverll by P.= QQS.

Where (. is the price of cars in dollars and

Q° and Q° are respectively the annual
quantity of cars demanded and supplied
respeciively.
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(1) Assumlng?thcre isno fofeig'ﬁ trade, -
find -the rGClUlllbl‘tllm pnce and:
- guantity.

(iiy Assmme-the cconc;my‘opens 1o trade.

“If-the world-price .of:carsis- 2,000-§-
(dollars); find fhe -annual. production,.
-consumption atid impotts of cars. -

‘(iii) AWhat happens-if. the.world price . s

2000 8§ {dollars} and. the- govcmment
: imposes~a-tariff of .1500.% _(dollars) ;

- per imported car 9
(w) ‘What happens if ;the’ tarlff is: reduced
- 0,500 % (dollars) and -world-. - price.
sremains the-same.?  Calculate. the. dead
| ~we1ght loss of this. tarlff '

For 1hc followmg cases™plot-the “budget

. - ¢onstraint before and after the change

'(|) ’Non wage : ihcome. » T - +100,. -

U S vage = ¥ 20 pet: 110ur “Total tlme-‘.
~.available.s = 40. hours; - Non rwage -
| income changes:to zero.- e

(i) " Non wage -income - = ? 10,000,
.“wage = ¥ 40 per-hour, Total time = 50
hours; Available tlme 1ncréases to.
60 hours.

: '(m) Non wage income = 0, ‘wage = ¥ 500

per- hour, Total time = 40 hours;
¥ 1000 is donated to charity
. irrespective of earnings.
At goAr &% dod o fad=m wifae B doon
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SECTION B
JERERCE

Attempt Q. 5 as a compulsory question and attempt two
more questions from the rest.
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3. Attempt any three questions : Ix4

(a) Give reasons why GDP concept though
highly useful as a measure of economic¢
activity, has lmntauons as a measure of

: welfare.

{b) The multiplier effect of a change in
Government S'pending on aggregate output
in the long run is zero. Do you agree 7
Explain.

(c) The Federal Government under President
George Bush sent out millions of 300 dollar
cheques to- individual tax payers in August
2001 as one time tax rebate against' the
backdrop of recession that started in March.
Lay out a simple Keynesian framework
model of planned aggregate expenditure to
show how a tax rebate of 300 dollars will
affect equilibrium level of real -GDP.
Assume for simplification that everything
else is constant.

(d) State whether the following statements are
true or false. Give reasons. _

(1)  Aggregate demand management
policies that bring down prices will
eventually bring down interest rates
as well.,

(i)  If the velocity of circulation of money -

{alls, ceteris paribus, the price level
will increase.
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(a) * In a particular economy, total cash held by
~ the public is 10.000 rupees , bank reserves

are 2000 rupees and the desired reserve-
deposit ratio 1s 0.2.

(1) What is the money supply 2
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(b)
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(b)

‘ultimately concludes that monetary

(i} How is the money supply. affected if
the central.bank prints 5,000 rupees
and uses this to buy Government
Bonds from the public ? Assume that
the public does not wish to change the
amouat of cash it holds. o

Classical - Macroeconomic Theory

_ ‘policy
generates only price leve! effects. Explain
the above statement.. . '
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,“Exchange rate flexibility increases the

effectiveness of monetary policy and
diminishes the effectiveness of fiscal policy
in regulating the economy.”

Explain the statement with reference 1o a
country in which there is a perceived need
to stimulate the economy to reduce
unemployment.

Financial investors in bonds will incrcase
their holdings of money if they begin to
expect an increase in money supply by the
Central Bank. True/False ? Explain.
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8 (a) The demand formonéy, .MD, iman economy
is given by My =-10,000, - 10 000 r 4.y,

When: XS the interest rate - and«y is the -
Natlonal [ncome

(1) Find .the. equlllbnum interest > rate if
' . monejlT supply is T 10,000 CIores. and
‘ Natlonal Income is X S ;000 cr{xres

.

(i) _What happens to the cqu111bnum
',mteresl rate if Natxonai Incomc rlses
10 37, ,500 crores and money supply is
unchanged.

(iii) If the Central Bank wants to keep the
Intcrest rate at the same value as in
(i), by how much should it change the
money supply, given the new level of
National Income. 3
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(b) Distinguish between cost push and demand
pull inflation.

The spike in crude oil prices, rising costs of
metals and minerals, unseasonal rains
destroying food crops and acceleration in
the pace of per capita income growth of
lower income groups are being cited as
some of the key factors in pushing inflation
in India in recent past. [llustrate this
situation using tools of aggregate demand
and aggregate supply. -6
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